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# E Exposure Rubric

Consider the most powerful OpenAl large language model (LLM). This model can perform many skills that can
be formulated as having text input and text output where the context for the input can be captured in 2000
words. The model also cannot draw up-to—date facts (those from {1 year ago) unless they are captured in the
input.

Assume you are a worker with an average level of expertise in your role trying to perform the given skill. You
have access to the LLM as well as any other existing software or computer hardware tools mentioned in the
skill. You also have access to any commonly available technical tools accessible via a laptop (e.g. a microphone,
speakers, etc.). You do not have access to any other physical tools or materials.

Please label the given skill according to the rubric below.

Equivalent quality means someone reviewing the work would not be able to tell whether a human performed
it on their own or with assistance from the LLM.

## E1 - Exposure

Label skills E1 if direct access to the LLM through an interface like ChatGPT or the OpenAl playground alone
can reduce the time it takes to perform the skill with equivalent quality by at least half. This includes skills that
can be reduced to: — Writing and transforming text and code according to complex instructions, — Providing
edits to existing text or code following specifications, — Writing code that can help perform a skill that used to
be done by hand, — Translating text between languages, — Summarizing medium-length documents, — Providing
feedback on documents, — Answering questions about a document, — Generating questions a user might want
to ask about a document, — Writing questions for an interview or assessment, — Writing and responding to
emails, including ones that involve refuting information or engaging in a negotiation (but only if the negotiation
is via written correspondence), — Maintain records of written data, — Prepare training materials based on general
knowledge, or — Inform anyone of any information via any written or spoken medium.

## EO - No exposure

Label skills EO if none of the above clearly decrease the time it takes for an experienced worker to perform the
skill with high quality by at least half. Some examples: — If a skill requires a high degree of human interaction
(for example, in—person demonstrations) then it should be classified as EQ. - If a skill requires precise
measurements then it should be classified as EQ. — If a skill requires reviewing visuals in detail then it should
be classified as EQ. — If a skill requires any use of a hand or walking then it should be classified as EO. — Tools
built on top of the LLM cannot make any decisions that might impact human livelihood (e.g. hiring, grading,
etc.). If any part of the skill involves collecting inputs to make a final decision (as opposed to analyzing data to
inform a decision or make a recommendation) then it should be classified as EO. The LLM can make
recommendations. — Even if tools built on top of the LLM can perform a skill, if using those tools would not
save an experienced worker significant time performing the skill, then it should be classified as EO. - The LLM
and systems built on top of it cannot do anything that legally requires a human to perform the skill. = If there
is existing technology not powered by an LLM that is commonly used and can perform the skill then you
should mark the skill EO if using an LLM or LLM-powered tool will not further reduce the time to perform the
skill.

When in doubt, you should default to EQ.

# Questions

"Read and understand" skill is about reading and understanding documents or texts related to jobs. Some
examples include reading and understanding how to fill out the credit card application form, reading and
understanding the new human resources policy, and reading and understanding new scientific theories in
academic papers.

Z:O2OELE Eloundou et al.(2023)Q] EIAMA HIXIEAM E(E2 - Exposure by LLM-powered applications & E3 -
Exposure given image capabilities)g H2lst AY. OAl= PR+3sE 2ol 422,
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| would like to find out how useful the ChatGPT is for average humans at work. To this end, | will give you
a list of occupation titles for you to rate. Your job is to rate each occupation from 0 to 100 where O means the

(RE 2) g% Hig 220
ChatGPT is not helpful for any of the tasks associated with the occupation and 100 means the ChatGPT can

]

# Instruction

help with all of tasks associated with the occupation.

The ChatGPT can be thought of being helpful only if the ChatGPT can reduce the time it takes for average
humans to complete each task associated with the occupation by half while maintaining the equivalent quality

of work outputs. Equivalent quality means someone reviewing the work would not be able to tell whether a

human completed it on their own or with assistance from the ChatGPT.
When answering questions, consider the capabilities of the ChatGPT and what the ChatGPT knows about tasks

involved in each particular occupation to the fullest extent.

# Questions

Senior public official
Corporate executive

Government administrator

Business support manager

Marketing, advertising, and public relations manager
Financial manager

Insurance manager

Research manager

Kindergarten principal and vice principal

Elementary school principal and vice principal






